BRKAZE / Components

[(x®&= : TY-34)2008.02.08

5 %R / External View No. 2% / Part name BE& / Pcs B / Material - XE@WIE / Color- Finish
1 vy T7H/N—= / Top cover 1 A UD-A"2-p / Polycarbonate |34Mb- / Light gray
#EBR / Transparent
2 KT+ — 1 RNUD-NR=NT X774V - IANT V-
R A A e e e ) Base Glass fiber filled Light gray
polycarbonate
3 g = 3 Ay b/ Gasket 1 AY7b3y / Polyurethane 73y / Black
= = L |7y # / Latch 2 A77b% / Stainless steel LB / Unfinished
0 L | 5 [Eff~x—-2ZAEA(MS x 10) L £k = {@y0x-h
(VU Ut Uy Screw(M5 - 10) Steel Trivalent chromate
6 |5 / Key 2 REb5w 5> / Brass ZyIXvt / Nickel plated
U727 W7 —% / Technical Data
k50 160 2 REZMR / Protection class IP65
402 : . ; 5
EARE®E / Operating temperature | -20C ~ +75C
380 30
365 WM 2 2 2/ Flammability class UL94V-=0
25x5= 125 75 25x5= 125
C): e \. jo -/_II 1T % I O I I I | I I\IJI\_IHIJI\_III I I I I T I T T 11 % I 1 II_\-
T ] H- o [ - H® . T T T T =
. | | | | <, Al O OO0 OO0 COOOOO0 |G
. G =R 3=
i T z| 3 © |§
¢ S ; 51 © iz
; S .. S | 0 g=]=
b aal Bl 7 ™ ml=e ==
. i 3:
o O = | O o | B
: : o o |E
ﬂ”] ﬁu zI D D I=
- L =l OO O DD DD DD DOOD |H
========== — L E _t f & - g8y @ m
[r “\ \0/ \ ) N\ @ |1 1 O O I I I N I N | T “{6”/“ 11 @ I
_ T\ L-M54U8-RIuh
4-M5 Insert nut
50.5 30 ?
— — © BAKEEFARED) / Color Type(End of product numberd)
[ [ = [ | . .
ll ll %= / Code by 77 N— / Top cover K54+ — / Base
= = S 54 t5L— / Light gray |94 t 5L~ 7/ Light gray
S A T #EBA / Transparent 74 b7 L — / Light gray
oz N _ 2% /Title —
(Y e e e e e e e e e e e BRAZHIDFERIR BhK B BB 2T BB ZA VI-K"3-NT 54" vIR S [ —
. TAIACHIELECTRONICS ENCLOSURE Co. LTD. IP65 POLYCARBONATE PLASTIC BOX with LOCK
A% 4726 &I /Approved | R /Checked | #E/Created |E% /Product number RE/Scal1e45
- nserrt nu B
BCPK3545160
IR iR ) 17/ 2
fEfB /Date  2021/03/03




[(x®&= : TY-34)2008.02.08

W] / Internal View

F’meﬂ“’“‘_mﬁ“\

T 14— (HR) h—(AR)
Base (Internal View) Cover (Internal View)

2 160 50

|
|

&
&,

®
®
©
®
®
®
®
®
©
®
®
®
®
®

BE~T% /Max dim. 308.7

350
CRCIRCIRON GG OO O,
ORCIRCIRONE IO RO OO
L g T T B e Py g O Sy S g SR ]

®
®
®
®
®
®
©®
®
®
®
®
®
©®
D

&

2

Y

\ &-M5478-RFuh

i
@
n

L -M54 7= KFoh

L-M5 Insert nut L-M5 Insert nut
e}
~
<
E
pw)
>
(gv]
>
~ ()
# = o &% /Title
- S HFERTE ot r L e o
2 i - BARUINTE B5K B EE g A B B XA vI-#° 2- 8T 54" wIA C
ﬁ TARACHI ELECTRONICS ENCLOSURE Co, LTD, IP65 POLYCARBONATE PLASTIC BOX with LOCK FENSEP
N _ &R /Approved | ¥ /Checked | #E/Created [&% /Product number
T 145
BARE MMex dim. 18] - BCPK354516S / BCPK354L516T
iR iR =) 2/ 2
£ B /Date 2021/03/03




	BCPK354516 Model (1).pdf
	BCPK354516 Model (2).pdf

